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A0 R HsREhie A EhRE TN E)
LR o4 G R AO| #EE] A FEC ] Al &S SE] (5 [ ()
Kagk] 46, 229|[ 109, 395[ 53,505] 55, 890 20 -1l -46 69 115 35| 476|441 0 146 146
HF—TH 670(| 1,425 696 729 -2 -9 0 0 0 -2 1 3 -7 0 7
S TH 550 1,328 668 660 -2 -3 1 2 1 -4 1 5 0 0 0
FLIL=TH 448[ 1,032 498 534 1 0 1 2 1 -2 1 3 1 1 0
SLili&Er| 1,668 3,785 1,862 1,923 =3|  -12 2 4 2 -8 3 11 -6 1 7
B —TH 487\ 1,025 487 538 -1 0 -1 1 2 2 3 1 -1 0 1
Sern_TH 763l 1,839 887 952 5 1 -4 0 4 1 4 3 4 5 1
Sy an—TH 527 1,275 616 659 3 3 0 1 1 0 8 8 3 3 0
LN 370 917 444 473 4 3 0 0 0 1 3 2 2 2 0
ey nt ] H 558| 1,260 617 643 0 1 0 0 0 0 3 3 1 4 3
AT 219 491 231 260 -1 -1 -1 1 2 0 0 0 0 0 0
SerantTH 636[ 1,648 820 828 1 -5 -2 1 3 0 5 5 -3 1 4
g a/NT H 394 922 453 469 0 -1 -1 0 1 -1 4 5 1 3 2
o BILT B 595( 1,449 727 722 -3 -8 -1 1 2 -2 5 7 -5 0 5
S A gkl 4,549| 10,826 5,282| 5,544 8 =71 =10 5 15 1 35 34 2 18 16
ks —TH 334 809 406 403 0 -1 1 1 0 -2 1 3 0 0 0
Wk a_TH 931 2,044 1,001 1,043 0 -1 -2 1 3 -1 11 12 2 2 0
Wk a=TH 668[| 1,458 704 754 3 8 0 1 1 7 9 2 1 1 0
W aaErl 1,933 4,311 2,111 2,200 3 6 -1 3 4 4 21 17 3 3 0
s Aa—TH 568|[ 1,257 617 640 1 0 -1 0 1 1 1 0 0 1 1
A _TH 381 939 493 446 -1 3 0 2 2 1 2 1 2 3 1
s A=TH 237 541 265 276 0 -2 0 0 0 -3 2 5 1 1 0
s AT B 535|[ 1,323 676 647 -4 -6 -3 0 3 -3 6 9 0 0 0
mskr A5 1,721 4,060 2,051 2,009 -4 -5 -4 2 6 -4 11 15 3 5 2
THE0 351 975 429 546 -1 -5 0 0 0 -4 2 6 -1 0 1
FOEE— T H 153 383 182 201 1 3 -1 0 1 0 0 0 4 4 0
EEd T H 409 985 469 516 -3 -7 -1 1 2 -2 1 3 -4 0 4
HEEI=TH 664/ 1,701 810 891 1 4 -2 0 2 5 10 5 1 2 1
HOEEA T A 709|[ 1,790 874 916 -2 -11 -1 1 2 -7 4 11 -3 1 4
L gUENE 406 970 487 483 -2 -4 -2 0 2 -2 2 4 0 0 0
EEHI ST H 389 948 463 485 0 2 1 2 1 1 2 1 0 0 0
HERIETH 633[| 1,455 715 740  -14|  -12 0 2 2 -9 8 17 -3 0 3
HOEFD AR 3,363 8,232] 4,000 4,232  -19|  -25 -6 6 12| -14 27 41 -5 7 12
FOEES| 1,474 2,986] 1,396] 1,590 0 -5 -7 1 8 1 8 7 1 1 0
FEIAR 326 697 350 347 -1 5 -1 0 1 5 6 1 1 2 1
GBS T 448 973 471 502 -3 -4 -3 0 3 -1 2 3 0 3 3
GEERARR T H 237 502 254 248 -3 -3 -1 0 1 0 1 1 -2 0 2
GEERAR =T H 487| 1,133 571 562 4 7 -1 0 1 4 4 0 4 4 0
B Pl T 581 1,241 584 657 4 2 0 1 1 2 6 4 0 3 3
GEERAR T T H 197 518 252 266 -2 -2 0 1 1 -2 0 2 0 0 0
EEAh A 1,950 4,367 2,132 2,235 0 0 -5 2 7 3 13 10 2 10 8
BRI T 653|| 1,388 662 726 -2 -4 -1 1 2 -6 3 9 3 9 6
GEERAANT T H 655[ 1,338 641 697 0 -3 -1 0 1 1 2 1 -3 1 4
EERAARTAEE| 1,308 2,726] 1,303 1,423 -2 -7 -2 1 3 -5 5 10 0 10 10
IR 320 886 499 387 5 3 1 1 0 5 8 3 -3 1 4
HHPR—-TH 697 1,695 846 849 5 6 -1 0 1 6 6 0 1 1 0
WAR =T A| 1,547 3,697 1,826] 1,871 8 12 -1 2 3 3 20 17 10 15 5
HPR=TH 807| 2,166 1,063| 1,103 -2 -3 -1 1 2 -1 4 -1 0 1
HHPRMNTH 492l 1,211 585 626 2 1 -1 0 1 1 4 1 1 0
HPIRAE 3,543] 8,769 4,320 4,449 13 16 -4 3 7 9 34 25 11 17 6
AHR-TH 647 1,575 773 802 2 2 0 1 1 2 0 0 0
JHR_TH 860l  2,194| 1,078| 1,116 0 -3 -2 1 3 -3 2 6 4
AHR=TH 437 962 499 463 0 -1 -1 0 1 1 -1 0 1
JbdRAEH 1,944| 4,731 2,350 2,381 2 -2 -3 2 5 0 12 12 1 6 5
H R 313 792 376 416 -2 -3 1 1 0 -3 -1 0 1
Wi 1,586[ 4,950 2,265 2,685 2 0 -5 3 8 4 1 7 6
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e T H 773|| 1,855 917 938 3 6 0 1 1 3 11 8 3

FwE _TH 697 1,863 951 912 -1 -3 -1 2 3 1 3 2 0

FHE=TH 617/ 1,561 777 784 1 0 0 1 5 4 2

FMEM T H 893l 2,209 1,087| 1,122 7 4 1 4 6 2 2

FVERT H 582 1,400 682 718 -1 -7 -1 1 2 3 5 2 2

FREANTH 410[ 1,029 492 537 1 -6 -1 0 1 1 1 0 0

mEaE 3,972 9,917 4,906| 5,011 10 1 8 8 13 31 18 9
L 499[ 1,127 557 570 -1 -2 0 0 2 7 5 3 7
H—T H 323 693 343 350 2 3 -1 0 1 2 4 2 0
=T H 590( 1,358 664 694 6 0 1 1 6 7 0 0
A2 913 2,051 1,007| 1,044 6 9 -1 1 2 8 11 3 2 0
i —1H 355 746 345 401 11 36 2 2 0 9 136 127 28 3
= _TH 648[ 1,389 674 715 2 4 1 2 1 2 5 3 1 0
EH=TH 402 1,026 517 509 1 1 5 5 0 1 3
=HaEr| 1,405 3,161] 1,536 1,625 15 43 5 2 16 146 130 30 6
HE-T 8 377l 1,010 484 526 0 -1 -1 0 1 -1 0 1 1 0
WHE T H 421 1,075 529 546 -3 -1 0 0 -1 0 1 0 0
s =TH 755(| 1,950 990 960 -2 -3 3 1 -3 1 4 0 2
HHENT A 452 1,047 496 551 0 -1 -1 0 1 -1 1 2 1 0
WHE T A 716 1,652 806 846 0 -1 0 2 2 -1 2 3 1 1
s AT 213 468 242 226 —4 -5 -2 0 2 -3 0 3 0 0
WEASH 2,934| 7,202 3 547 3,655 9|  -12 -2 5 70 -10 4 14 3 3
<HEL—TH 606| 1,442 706 736 -2 -2 0 3 3 -2 0 2 0 0
<MEIZTH 698[| 1,529 753 776 1 2 -1 0 1 4 6 2 0 1
<MEIN=TH 509 1,167 581 586 -1 0 -1 0 1 2 4 2 0 1
<HENTH 504 1,125 564 561 1 -2 -1 0 1 -1 2 3 2 2
e 353 785 436 349 0 8 2 2 0 5 7 2 1 0
<X AE 2,670 6,048] 3,040 3,008 -1 6 -1 5 6 8 19 11 3 4
PEARIT—TH 768| 1,695 848 847 -8 -12 -1 2 3 -1 5 6 0 10
WIEARIT —TH 432[ 1,083 539 544 -1 -2 -1 0 1 0 0 0 1 2
WIEARNTAE 1,200 2 778] 1,387 1,391 9|  -14 -2 2 4 -1 5 6 1 12
we 458 368 435 433 0 0 -1 0 1 1 3 2 0 0
ka1 H 968|| 1,632 730 902 -7 -8 3 3 0 -9 7 16 0 2
kAT H 394 674 311 363 5 8 1 1 0 7 3 1 0 0
ok n=TH 612l 1,683 789 894 -1 -1 2 2 0 -2 3 5 0 1
ke AT H 379 825 397 428 0 2 0 1 1 2 6 4 3 3
sk aaEr| 2,363 4,814 2 227 2 587 -3 1 6 7 1 -2 24 26 3 6
SRR T 20 59 31 28 0 0 0 0 0 0 0 0 0 0
g 762 1,812 885 927 1 -5 0 1 1 -2 6 8 0 3
R 274 665 319 346 -1 -1 0 0 0 -1 0 1 0 0
PR — T H 407|l 1,089 556 533 -1 0 1 1 0 -1 0 1 0 0
R =T H 377 894 442 452 4 0 -2 0 2 2 3 6 0 0
AL N 784/ 1,983 998 985 3 0 -1 1 2 1 8 7 0 0
PR — T 625 1,376 692 684 4 7 -1 0 1 9 12 3 3 4
PEEER T A 500 1,226 582 644 2 1 0 0 0 1 3 2 1 1
et A S 1,125 2,602| 1,274| 1,328 6 8 -1 0 1 10 15 5 4 5
Ve R 288 663 334 329 0 -5 -2 0 2 -3 3 0 0
[ SIR/N 223 552 296 256 2 1 0 0 0 1 2 0 0
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